[ Efficiency vs vertpos |
-~ 0.5

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original
Efficiend —e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24

—— DQM_TT__mod_modelsdeep_something3
~ 0.8
—

©
~
I

efficiency vs ver
o o
6] (o]
I I

©
»
|

o
w
TTTT[TTTT
= ""':l"" T
——
g

: , R R R
g m ﬂﬂ :
R S STt L I S
T F i
S & ; 1% B3 TERLRS
E b :
0.95;— ------------- b -------
0930 -i0 O 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> T N T O

O e A A cTTTTT N e

£ F
@ QA e
ke ts) SRR R LR SR S AE EE R

£ 03 bbb
Q

o
©
TTTT

I
N
(=]

I
iR
ol

I
[
o

I
o
ol
PE=
o
=L
o
N
(=}

Sim. PV z (cm)



	Contents
	Page 1


